FCC3 - - Review Exponents and Logs

1. Write an equivalent logarithmic equation for x® = 32,

2. Write an equivalent exponential equation for Inx = NG

4. The log 0.034 is between what two consecutive integers?

5. Given log 8,1 = 09085, find the log 8100.
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26. To the nearest dollar, what amount must be invested at 6% compounded continuously for 14 years in order for

balance to be $23,140? (A = Pe™) A= pert o)
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27. A tractor that 4 years ago cost $8,000, now is worth only $3200. Find the average annual rate of
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@ The population of a certain colony of bacteria doubles every 5 hours. How long will it take for the population
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28. A radioactive substance has a half life of 21 days. How long will it take 100 grams to become 12.5 grams?
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